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(1) log.(MN)=logM+1og.N
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(2) loga% =log.M-1og.N
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(3) logMe=alogM
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%1 2 H log.x,log.y,log.z &7~ T 71| % 3
() log. ™ (2)log(x’y") (3)1oga§
fi: (1) log, % =log.xy-log,z=log.x+log,y-log,z
(2) log.(x’y°)= log.x’+ log,y*=3log.,x+5log.y

(4) loga% =log,/x -log.yz=log.x ; -(log,y+1og.z)
Z

=% log.x-log,y-log,z
B3 5. (1) logy(42.2%);  (2) 1g¥100; (3) loge2+loge3
fif: (1) logy(4%.2%)= log,4*+ log,2°=2log,4+510g,2=4+5=9
2) lgw=%lg100=§
(3) loge2+logs3=logs(2*3)=logs6=1
il 4 3K logs2
fifd: % logs2=x, BRN#N 3 =2
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fit:  logb® - logna’
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